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QUESTION 1

When configuring distributed services across a network, it is considered best practice to configure which of the following
parameters as globally significant?

A. Customer ID and SAP ID.

B. Customer ID and Service ID.
C. SAP ID and Service ID.

D. SDP ID and Service ID.

E. SDP ID and SAP ID.

F. SDP ID and VC ID.

Correct Answer: B

QUESTION 2

When configuring RSVP-TE for transport tunnels, which command enables RSVP by default?
A. configure router tunnel

B. configure router gre

C. configure router rsvp-te

D. configure router transport-tunnel

E. configure router mpls

Correct Answer: E

QUESTION 3

What is the significance of receiving a packet with the bottom MPLS label S bit set to 1?
A. It results in forwarding based on the next packet header.

B. It indicates that the label is the bottom of the MPLS label stack.

C. It indicates that the label is the top of the MPLS label stack.

D. Any LSR that receives an S bit set to 1 must discard the packet.

Correct Answer: B
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QUESTION 4

Which of the following about MPLS shortcuts for IGP on an Alcatel-Lucent 7750 SR is FALSE?
A. An IGP route takes priority over a transport tunnel.

B. Both LDP and RSVP-TE based tunnels can be used.

C. MPLS tunnels can be used to resolve the prefixes learned via IGP.

D. Multiple MPLS tunnels can be installed in the FIB.

Correct Answer: A

QUESTION 5

Once a service has been created with a customer association, it is possible to change the customer association.
A. TRUE

B. FALSE

Correct Answer: B
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